| Efficiency vs Dxy |
0.2
<

Ea A N | N
B ] | A AR
< e 1| O R
@.16:—----2‘------% ------- R 1 | R S S
> R S S S S A 1 | A S
KT e SR £ ' [E S SR SR S
© oo : : : : : : : :
O e R S H 11| it St S
) S 11 |
008l
008

00l
0 L
q-_llll:lIII:IIII:IIII:IIII!IIII:IIII:IIII:IIII:IIII
oof i

06 b

_JB20-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

Ratio

— —=— DQM_mkFit_TT _retrain
| Efficiency vs Dz |

—e— DQM_mKkFit_TTold

V4
=
N

=
!
'

efficiency vs d

o
©
[

....................................................................

....................................................................

o
o))
[

..

8620 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


